EARAROBEEIERT — 2 N— IBISH —F

2019537280 (K) 28mEZ & E3H

mﬁﬁﬁéﬁ,ﬂ,u A2 HS5H— (xwlw | lmEmml - |5 ) wom 8
[x&<£] 1 %:600,000 1  23#&:150,000 @  3#&:72,000 @  43#%:48,000  ~ 53 :30,000 9
B\ BB mEBR Mk HE BF (F8) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> fo4 | FHEE 2:01.0 1-1-1-1 | 37.7| — 5 | 440 |AEED (BHE)
1155 FA¥L— L . 54.0 ) Gy | 0 7OrFT e xy—
R:Hy2T4 752 B:E¥/Av> =it fa
rBY3| 77=2— # 7 | B 8 8-8-8-4 |37.6| — | 2 (4_722) Egggiﬁé)
R:T5AT7X84 46 B:EYRZAYY =i &S
3 6lVa—rers # 6 i;Fs.o (21:011/.29> 2222 |38.4| — | 4 <4+712) ig;g%% (BEE)
x> iv/FEx BHALOITE-L ful e ]
4 o | TV TUUTL b # 6 R?{?)B%lﬁ 2(:10/22.)0 33-36 (384 — | 6 | 393 #(%E ;Z‘BHE)
RiA{Yak—5— BvvT A—L S T
50717 |7x2=-7541 H 5 ggﬁfﬁ'@— (27(3)37()) 5567 (382 — | 3 (4_627) E?ﬁié (BHE)
LN=vI754 B:oU=-vuLfa AT 77— L4
clalgla2rF>say7 B 7 g}‘uai— 2:82).2 4-4-4-3 |38.6| — 9 (4_418) f’{%fﬁf%l\;gﬁaﬁé)
Ry RYIUXIR B:A4TFxT7Yyh— FEEANS
7 4| TATESY - it 6 ;—*,;%Ek 2:(022>.6 9-9-9-9 [38.3| — 8 452 ;‘?Efﬁg (BEE)
QixF1=Gr—2 BTKIAVETY— @) 1 %5, —n
glil1|*EV=—7z=Tn f 5 ﬁf”ﬁ?ﬂkﬁﬁ 2:82).8 6-6-7-8 [38.9 — | 1 | 441 ii;;%ﬁ%/(ﬁ%%)ﬁj
RBA LT Ry IR BAEY—% vy T 19| kb
S 4 4 | #EBLE 2:04.0 7-7-5-4 | 40.3| — 7 422 |MTEA (BEHE)
9189 Z/hY 54.0 6 ~ ]
QAZ—Ea2-X EBIUETRLF © 9 | mmms
® 1 — @B
13—4— 5,6,2,8,7,1,9,3,4
2o =7r= 5,6,2,8,7,1,9,3,4
J=7r= 5,6,2,8,9,7,1,3,4
AT =gr= 5,6,8,(3,9),2,7,1,4
[ RN
B R 5 790 74K 3-5 550 % E 3-5 1,700H &R 3-5-6 2,520
% B 5 200M 5-6 840M B & B’ 2,200 3EE 5-3-6 20,680
3 120 3-6 270M BB 5-3 3,740M
6 130M

ABICOVWTRDTEEERROODE. TR LIV,




